Product Package

@ DOBO1T

Mooz-27

Mooz-Full

Mooz-3Z

1 Single Z-axis v
5 Double Z-axis / /
3 Mooz-Parallel W4
4 LCD Touch Pad v v v v
5 8-core Cable
& v/ v v/ v
6-core Cable x1
6 1-to-2 Adapter v v
USB 2.0
7 Cable v v v v
(A-male to B-male)
g 12V Power
Adapter v v v v
CNC Platform
J & Fixture v
Printer Head
10 Control Board /
Extruder Motor
11
Power Cable ‘/
CNC Chuck
12 Wrench v
& Bits
L-type Hex
13 Screwdrivers v
Serveral M3x8 Hex Screws
L-type Hex
14 Screwdrivers v v v
Serveral M3 x 6 Hex Screws
Serveral M3 x 8 Hex Screws
250g PLA \/
15 Filament \/ ‘/ ‘/
16 Filament
Support ‘/ \/ ‘/
17 /
18 Extruder v
19 Printer Head
Module ‘/
PTFE
20 Pipe ‘/
21 3D Printing v v 4
22 CNC Carving V4
Laser
23 Engraving v
24 Goggles v
Protective
25 Shield v
Shipping List
Number ltems Contents
Base + Main Control Board
. . 3 Identical Linear Actuators
1 Single Z-axis
Heated Bed + Heat Insulation Gaskets
LCD Touch Pad
Base + Main Control Board
| 4 |dentical Linear Actuators
2 Double Z-axis _
Heated Bed + Heat Insulation Gaskets
LCD Touch Pad
Base + Main Control Board + Heated bed
3 Mooz-Parallel 3 Identical Linear Actuators
LCD Touch Pad
3 8-core Cable 8-core Cable
4 6-core Cable/1-to-2 Adapter 6-core Cable/1-to-2 Adapter
5 USB 2.0 Cable(a-male to B-male) USB 2.0 Cable(a-male to B-male)
§) 12V Power Adapter 12V Power Adapter
/ CNC Platform & Fixture CNC Platform & Fixture
8 CNC Chuck Wrench & Bits CNC Chuck Wrench & Bits
|-type Hex Screwdrivers
9 Hex Screwdrivers
Serveral M3x8 Hex Screws
L-type Hex Screwdrivers
10 Hex Screwdrivers Serveral M3x6 Hex Screws
Serveral M3x8 Hex Screws
11 Extruder Extruder
12 PTFE Pipe PTFE Pipe x 3; Extra for Spare x T
13 Printer Head Module Printer Head Module
14 Extruder Motor Power Cable Extruder Motor Power Cable x 3
15 Printer Head Control Board Printer Head Control Board
16 250g PLA Filament 250g PLA Filament
17 Filament Support Filament Support
18* 3D Printing 3D Printing Head
19% CNC Carving CNC Carving Head
20+ Laser Engraving Laser Engraving Head
2 Goggles Goggles
29 Protective Shield Protective Shield

ltems marked with*are Functional Modules.

If you have any question, please contact us: support@dobot.cc.
www.dobot.cc




